
Introduction of IELTS Academic Writing Task 2 and 

Sample Answers with Different Scores

Some sample answers with examiners’ comments have been scanned from Cambridge Books for IELTS for you to understand the grading system better. 

IELTS Academic Writing 

In Task 2 candidates are presented with a point of view, argument or problem. They are assessed on their ability to present a solution to the problem, present and justify an opinion, compare and contrast evidence and opinions, and evaluate and challenge ideas, evidence or arguments. 

Candidates are also assessed on their ability to write in an appropriate style at least 250 words, but normally less than 300 words. 

Here are examples of TASK2 Writing essays with different Bands:

Sample Answer
This is an answer written by a candidate who achieved a Band 5.5 score. 

Nowadays the way many people interact with each other has changed because of technology. 

In what way has technology affected the types of relationships people make? 

Has this becomes a positive or negative development? 

Nowadays the way people interact with each other has changed because of technology. 

Yes, the technology has changed the people’s interaction in very enhanced manner. Earlier people use to wait and try to find easy way to contact their friends or relatives leaving far.  In past there was no quick technology to contact or to establish any communication between one person to another person. The drawback with past communication systems was that it were very slow and were time taking process such as telegrams, letter etc. People used to afraid to write their personal feedbacks or things to their love ones due to insecure medium of communication. When it comes to professional level, the privacy and accuracy should be maintain but, to that time there were no secure communications. 

Now the things have changed around, people from far distance contact their loves one in an easy and quick ways which improves the Interaction level between two person. Quality the level of the Interaction between people to people, has improved because the people are equipped with high-tech technology which enhances the communication. There a re many many medium which are available now such as Internet, Calling Cards, etc. 

The technology has provided the mobility faster which help people to talk or to interact at any time anywhere in the world. 

People can contact their friend or relatives any time they want, It has become so easier and feriendly to be in touch with your feriends,relatives even with the unknown people. 

Here is the examiner’s comment: 

The topic introduction has been copied from the task and is deducted from the word count. This leaves the answer underlength at 236 words, so the candidate loses marks for this. 

This answer address both questions but the first is not well covered in terms of how actual relationships have changed. Nevertheless, there is a clear opinion that the effects have ben positive and relationships have improved, with some relevant ideas to support this. There is a general progression to the argument, with some effective use of time markers and linkers.

There is also some repetition, however. Paragraphing is not always logical, and ideas are not always well linked. A range of vocabulary that is relevant to the topic is used, including some precise and natural expressions. There are quite a lot of mistakes in word form,word choice or spelling ,but these do not usually reduce understanding. A variety of sentence types is used , but not always accurately. Errors grammar and punctuation are distracting at times, but only rarely cause problems for the reader. 

Sample Answer 

This is an answer written by a candidate who achieved a Band 6.0 score. 
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WRITING TASK 2
You should spend about 40 minutes on this task.

Present a wrilten argument or case to an educated reader with no specialist knowledge of the
following topic.

Improvements in health, education and trade are essential for the
development of poorer nations. However, the governments of richer
nations should take more responsibility for helping the poorer nations in
such areas.

To what extent do you agree or disagree with this opinion?

You should use your own ideas, knowledge and experience and support your arguments with
examples and relevant evidence.

You should write at least 250 words.
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TEST 4, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6 score. Here is the examiner’s
comment:

e writer expresses a point of view, but the ideas show litle development and the argument does
ot go anywhere, The writing is well-organised, however. and can be followed with litle diffculty
Sentence structures are sufficiently varied. but grammatical and lexical control is quite often faulty
(¢.0. subject/verb agreement. incorrect use of tenses, mass/count noUD)

In balancing the world economic growth, the underdevelopment of the Third World Nations
have been drawn to the attention of the developed countries of the Western. Thus,
governmental policies and interference in the agricultural business of the poorer nations
were made to secure their dominant source of the economy. Many discussions among
economists and politicians also put their focus on the other aspects. That is, to improve the
health, education and trade for the developing countries. However, the improvements
cannot be made by these countries, but more external assistance and aids should be done.

Because of the shortage of food supply, the people in poorer nations (i.e. Africa) are
esily prone to disease, hunger and death. When natural or environmental disastres happen,
they are threaten with their lives. Education cannot be. well developed as a result of
frequent droughts, famines and disease spreading. The other countries, while emphasising
on the development of agriculture in the Third World, cannot really give the solution to the
cyelical problem which has been existing for a long time. It is time to consider the
consequences of all the waste of efforts in trying to help the economic growth of the Third
World and to think from the other perspectives. The richer countries have the power to
rebullt the Third World by taking care the essentials - health, education and trade. More
aids for providing the medicine, educational needs and materials can be done by the richer
countries. The assistance of trade and developing business in the poorer countries also can
be of a great help to the poorer nations.

If the richer countries can be more serious about the essential issues of how a hation
develops, and well consider the special situations and circumstances those poorer nations
are facing, the improvements will be more. efficiently made. The governments of developed
countries are, in some ways, responsible ~ though not obliged - for the future of those
developing countries.
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Sample Answer 

This is an answer written by a candidate who achieved a Band 6.5 score. 

In some countries the average weight of people is increasing and their levels of health and fitness are decreasing. 

What do you think are the causes of these problems and what measures could be taken to solve them? 

In some countries the average weight of people is increasing and their levels of health and fitness are decreasing.I think that the cause of these problems are due to unhealthy lifestyle and the lack of exercise. 

Nowadays, people are getting more and more lazy. They want convenience ain everything. When they come home from work, they will have microwaved dinner or fast food so that they do not have to take the trouble to prepare a meal or wash up after dinner . The introduction of fast food is also the main cause of unhealthy living . People are opting a fast food restaurant meal rather than a simple homecooked meal. Yes, your burgers and pizzas tasted better than a homecooked meal but think of all the calories you are swallowing. The oil they used to fry your fries. It is literally black. Eating too much fast food will also lead to health problems. Sugary drinks, pacheted chips, candies and chocolate are also some of the cause s that contributes to unhealthy lifestyle. Heavy consumption can lead to weight gain and diabeties. 

I think that the main casue is the lack of exercise . As you grow older, your metabolism rate drops. Even if you are eating the same amount as before, you will still gain weight. The one and only solution to this is exercise. The recommended exercise per day is at least 30 minutes of brisk walking. This target can be easily achieved if people do not drive to work. They can take a bus or a train and drip one stop earlier than walk to the office. Every little bit counts. When you comes home from work, you can play with your kids or bring the dog for a walk. Anything to get your attention away from the couch. More exercise will surpress your cravings for sugary stuffs. 

People should also balance their diet. For example , by eating more vegetables and fruits. Eat less meat and drink plenty of water throughout the day. Organise time with your family to take a walk outdoors to enjoy the sceneries rather than cooping yourself in the house. This is healthy living for the body,heart and the soul. It is also less likely to fall sick if you do plenty of exercise as your body is strong enough to fight off illness and diseases. 

Here is the examiner’s comment: 

This script answers both parts of the task and presents a clear opinion on the issues. There are relevant main ideas, although the supporting examples are sometimes less appropriate. The answer is organised with some good use of connectives and time-markers giving an overall progression to the argument. 

There are also mistakes,however, and some lack of linking between sentences. Paragraphing is used, but is not always logical and the concluding paragraph is confused. The range of vocabulary is the best feature of this script, and includes some good use of natural expressions and idiomatic language. There is some inappropriate use of a less formal style at times, but control is generally good. There are few word choices that are inaccurate, and errors in word form and spelling are only occasional. A variety of sentence forms is used with accuracy and fluency, but there are a lot of short, simple sentences that reduce the range of complex structures. There are grammatical errors and omissions ,but these are not frequent.

Sample Answer 

This is an answer written by a candidate who achieved a Band 7.0 score. 
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SAMPLE ANSWER
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Sample Answer 

This is an answer written by a candidate who achieved a Band 7.5 score. 
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You should spend about 40 minutes on this task.

Write about the following topic:

Some people believe that there should be fixed punishments for each type of crime.|
Others, however, argue that the circumstances of an individual crime, and the
motivation for committing it, should always be taken into account when deciding

on the punishment.

Discuss both these views and give your own opinion.

Give reasons for your answer and include any relevant examples from your own knowledge
or experience.

Write at least 250 words.




[image: image6.png]TEST 2, WRITING TASK 2

SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7.5 score. Here is the examiner’s
comment:

This is a thoughtful and well-argued response to the task. The candidate examines the opposing
views of the topic and gives a clear opinion that is well developed and supported. To reach the
highest band a more clearly-signalled conclusion would be needed. The argument is well
organised and linking is well managed throughout. The development of the answer is not helped,
however, by poor control of paragraphing which sometimes confuses the links across different
sections. This is a weak feature of the script which limits the overall rating. In contrast, an
excellent range of vocabulary is used with a sophisticated level of control and only rare slips. The
range of structures is also wide and most sentences are accurate and precise, but there are
some errors and omissions. These, however, are only minor and do not affect communication.

Fixing punishments for each type of crime has been a debateable issue. There are many
arguments supporting both views, those for and those against fixed punishments.

On the one hand, fixed punishments will have a deterring effect on society. Individuals
knowing that they will be subject to a certain punishment if they are convicted with a

given crime, will reconsider committing this act in the first place.

This deterring effect also leads to social stability and security, through minimising the
number of crimes committed.

1f people knew they would be able to convince the court or the jury of a reason for
having committed the crime they are accused of, penal decisions would be largely
arbitrary. This would result into criminals getting away with their crimes and into a high
level of injustice caused by the subjective approach of different courts.

On the other hand, taking the circumstances of a crime and its motivation into
consideration is a prerequisite for establishing and ensuring justice and equity.

A person killing in self-defense cannot be compared to a serial Killer, moving from one
victim to the next. In my opinion an intermediary position between both solutions is the
perfect way to establish and ensure justice and equity.

There have to be fived punishments for all crimes. However, criminal laws have to
provide for a minimum and a maximum for the punishment and the laws also have to

foresee certain cases of exemptions.

An example for setting minimum and maximum penalties is Competition Law where a
person being held liable of a crime under this law will be convicted to pay a fine,
according 4o the harm caused by the violation and the profit gained by the violator
through committing the crime.

As for the exemptions, in some countries the law exempts thiefs stealing food during a
period of famine taking into consideration the distress and hunger.

RAlso, a person killing in self-defense will be exempted from punishment.




Sample Answer 

This is an answer written by a candidate who achieved a Band 8.0 score. 
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You should spend about 40 minutes on this task.

Write about the following topi

Some people believe that unpaid community service should be a compulsory
part of high school programmes (for example working for a charity, improving
the neighbourhood or teaching sports to younger children).

To what extent do you agree or disagree?

Give reasons for your answer and include any relevant examples from your own
knowledge or experience.

Wite at least 250 words.
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This is an answer witten by a candidate who achieved a Band 8 score. Here is the
examiner's comment:

‘The answr addresses all parts of the prompt sufiiently, focusing on the benefits
for students rather than society. A number of relevant, exiended and supported ideas.
ars used 1o produce a well-developed response to the question. However, some
ideas, for example the reference (o the crime level, are not fully extended. The ideas
are logically ordered and cohesion is consistently well managed. Paragraphing is
used appropriately, and progression between paragraphs is managed with some.
sophistication. A wide range of vocabulary is used to articulate meanings precisely.
with skiful use of uncommon lexis, and very few inappropriacies. The range of
‘grammatical structures used is also wide, with only occasional minor efrors.

Tt has been suggested. that hgh school students should be nvolved i unptic covoninty
services as & coupulsory part of hgh school pregrasmes. Mast of the colleges

are already providig oppertunties 1o guin work experience, however these are rot
Conpulsory. Tn wy opinon, sercing studlents to werie in communty services is a good dea
a5 1t cap provide thom with wary lots of valuable skills

Life skolls are very important and by dong volurtary work, students can learn bow
to Communcate with others and work i & team but also how to minige ther time arch
wprave ther crgamsational skls. Nowaddays, unforturately, teeragers do rot have mary
after-schoo actuties. After-school clubs are 10 lovger that popular ardt stuclents
wastly go bowe arcl sit m front of the TV, brause wterrat or play vies games

By guing tham compulsory work actuities wth charitable or comminty organsations,
they wil be ercauraged. to do something wore creative. Sklls gured through compulsery
work wil 1ot only be an asset on ther CV but also ncrease ther employabity. Students
will 50 uin mere respect towardss werl and. werey as they wil realise that it 15 rot
that easy to earn them ascl bepefilly wil learn to sperc them n @ mere practical way.

Healthy (e balarce and exercise are strongly prewoted. by the NHS, and. therefare
any kirch of spare twe charty work will provent from sitting and dowg rothrg. Tt
could also possibly reduce the crue level in the hah scheel age graup. 1f stucdents
have actirties to do, they wil rot be borect anct come up with silly ideas wheh can be
dargeraus for tham ar their surcaurdings

In corclusion, T thnk this 15 a very goect iclea, ardk T hape this progranwe will be put inte
acten for hgh schealsicalieges shortly




This is an answer written by an examiner who achieved a Band 9 score (full score). 

Model Answer 

[image: image9.png]WRITING TASK 2
You should spend about 40 minutes on this task.
Write about the following topic:
Research indicates that the characteristics we are born with have much

more influence on our personality and development than any experiences
we may have in our life.

Which do you consider to be the major influence?
Give reasons for your answer and include any relevant examples from your own knowledge
or experience.
Write at least 250 words,
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I'his model has been prepared by an examiner as an example of a very good answer. However, please
10te that this is just one example out of many possible approaches.

Today the way we consider human psychology and mental development is heavily
influenced by the genetic sciences. We now understand the importance of inherited
characteristics more than ever before. Yet we are still unable to decide whether an
individual's personality and development are more influenced by genetic factors
(nature) or by the environment (nurture).

Research, relating to identical twins, has highlighted how significant inherited
characteristics can be for an individual's life. But whether these charactéristics are
able 1o develop within the personality of an individual surely depends on whether
the circumstances allow such a development. It seems that the experiences we
have in life are so unpredictable and so powerful, that they can boost or over-ride
other influences, and there seems ta be plenty of research findings to confirm this.

My own view is that there is no one major influence in a person's life. Instead, the
traits we inherit from our parents and the situations and experiences that we
encounter in life are constantly interacting. It is the interaction of the two that
shapes a person's personality and dictates how that personality develops. If this
were not true, then we would be able to predict the behaviour and character of a
person from the moment they were born.

In eanciusion, I'do not think that either nature or nurture is the major influence on a
person, but that both have powerful effects. How these factors interact is still
unknown today and they remain largely unpredictable in a person’s life.







